ML /NVEAR - TS PR - T I & F PR EE

(BGL: uSv/h)

. - HE1m

AIE X 5 < .
1 1878 ABEINFR 0.06 - - -
2 1A7H BIREHFFER 0.07 - - -
3 1A13H - RENE/NFR 0.07 - 0.06 0.06

4 1A12H = EINER 0.06 - 0.06 N
5 | 18128 if:f FEDERK 0.06 - _ _
6 1878 IR INERR 0.07 - 0.07 0.07
7 1A6H O danl=at 5 0.06 - - -
8 1H6A8 BUR/INVER 0.07 - 0.08 0.08
9 1868 KIR/NER 0.07 - - -

4R — =

10 1A6H TN ER 0.09 - - -

s - HE1m
p: X % < -

No| MER | wEA | BR Bk [mELT] WE |
1 1A31H BEINFR 0.06 - - -
2 18218 IR HFER 0.07 - - -
3 | 1A318 = KEE/NER 0.07 - 0.06 0.06
4 1A31A8 # BINER 0.06 - 0.07 -
5 | 1A318 if:f HEheik 0.06 - _ -
6 1A218 RN 0.07 - 0.07 0.07
7 1H208 R 0.07 - - -
8 1H20H BENERR 0.07 - 0.08 0.08
9 1H208 RIE/NER 0.07 - - -

R — —
10| 1H208 T NER 0.10 - - -




